
Ix•t 0 (theta) represent the central angle of a circle. The sector of a circle is the partial area of the
ciNle that contains the central angle and its arc.

The arc length of a circle
The part of the area of the sector represents

circumference of the circle. part of the area of the circle.
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For #1-3, the central angle and either the radius are given. How do we show the process for finding
the arc length and sector area of each shaded region using proper units?
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For #4-9, find the requested measure. Make sure to use appropriate units.

4 What is the area of the shaded part of the
circle?
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6 What is the arc length of the shaded part of
the circle?
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8 What is the area of the shaded part of the 9
circle?
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What is the arc length of the shaded part of the
circle?
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What is the area of the shaded part of the circle?
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What is the arc length of the shaded part of the
circle?
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